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It is fit for a tear in a garment — RRI2LT YRR N

OVERVIEW

The &n»12 stated that nvaovn (rags) which are smaller than three nmyaxx by three
NMyaxx are 1212 vynn. The Xy asked; these rags are fit to be used as a patch for a
torn garment, so the owner may take it away from the window; why is it v¥»n? Our
mooIn reconciles our XM with seemingly contradictory ninna.

mooIn anticipates a difficulty:
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And even though the Xn3 states in the first P99 of 17210 n>o» and in N3w N2on1 in

2% 9o pp -
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That material which is smaller than three nvaxX by three nvaxX is not fit
neither for poor nor rich people, and therefore are not 8™ H3pn —

mooIn responds:
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That is certain that 'x 5¥ '\ o is not 7R2I Yapn, since people do not store it

(for generally it has no significant use) -
SNVIADT DYDY 399081 0 DY DIPYW RPT 290 HVaN NYT VNN KY DIPN YON YaN

However it is nevertheless not vy»», because he does not nullify it completely
(and rid himself from it), rather he takes this n1%v» when he needs it to repair a
tear in his garment.

SUMMARY
2"van Mo is not significant to be considered a 732 (so it’s not aRMY 22pn), but
people keep them to use for a patch (so it cannot be vynn).

THINKING IT OVER
How did mooin reconcile that 22wy 891 02195 RY 10 KL, with X227 7voph omn?

! However our X3 is asking that nva%vn which are less than '3 5v '3 are fit to be used as a patch!

2 1t is not significant enough that it should be considered a garment in order to be 7X»W 93pn as a garment; on the
other hand he keeps these scraps of material around, should he need them for a patch. Therefore it cannot be vynn,
since he may remove it for a patch.

3 A marginal note amends this to read "7vx»' (instead of A7wXN).
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